G6-M5 — Topic A

G6-M5-L1: For several days leading up to this lesson, review the Triangle/Quadrilateral
terminology in the opening exercise. Do so in short, targeted whiteboard exchanges...1 minute
max.

G6-M5-L2: For an alternative method for delivering the beginning of this lesson, see attached
Finding the Area of a Right Triangle script.

G6-M5-L3: For simpler problems with friendlier calculations, consider using the attached
subset.

G6-M5-L4: For simpler problems with friendlier calculations, consider using the attached
subset.

G6-M5-L5-6: Consider this philosophy when teaching these lessons:
- Expose ALL students to the concept of finding the area of composite figures
- But—when starting the students on independent practice simple Area of a Triangle
problems before working on the Lesson 5 & 6 Problem Sets.
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Finding the Area of a Right Triangle script.

Building the Ladder

T:
S:
T:

wdwvd

Draw a square.

(Draw square.)

Shade one half of the square...share your drawings with your
partner...did anyone shade it differently than their partner?
(Extract the diagonal shading.)

(Shade 3 x 2 rectangle.) How many units are shaded?
6.

Say the area.

6 square units

Repeat process for 4 x 3 rectangle and 6 x 4 rectangle.

Problem 1

T:

S0 d9

S:

(Project 3 cm by 2 cm right triangle over 1-cm grid paper.) What'’s the area of
the shaded figure?...How do you know?...turn and talk.

(Extract that it has to be half of 6 square cm so it’s 3 square cm.)

Write a 3-step number sentence to show how you got your answer.

(3 x2 + 2 will be the likely response.)

Can anyone express it as a 3-step multiplication sentence? Turn and talk to your
partner.

(Extract ¥4 x 3 x 2)

Repeat process for the other two triangles.

Problem 2

T:

Problem 3

(Project a 10 cm by 6 cm triangle with the base partitioned into 4 units and 2
units.) What do you think the area of this triangle is? Turn and talk to your
partner.

(Expect many students to say 30 square cm because they already have a
formula.)

Using the grid, can you prove that that the answer is 30 square cm? (guide
students to break the triangle into a composite of two right triangles.)

Repeat task #2b process for an obtuse triangle with a base of 8 cm, height of
4 cm, and a 2 cm by 4 cm right triangle that can be removed from a 10 cm by 4 cm right
triangle.
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G6-M5-L3 Subset

Calculate the area of each shape below.

2 ft 10 ft

on

an 10 1t an
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G6-M5-L4 Subset

Find the area.

12 cm
Bcm

10 cm

5in 41in

1an

1on
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